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Adding Fractions and Mixed Numbers
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To add fractions or mixed numbers when the denominators are different, rename the fracto

the denominators are the same.
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Adding Integers

The sum of two positive integers is a positive integer.
2

|yl 2 =

3210 1 2 3456@)8 5
2+5=7

The sum of two negative integers is a negative integer.

I e = =

D8 -7-6-5-4-3-2-10 | 2 3 4
-3+ -6=-9

To find the sum of two inhﬁfrs with opposite signs, subtract the digit of lesser value from the digit
of greater value and keep the sign of the greater digit.

l 5 .
| IA.

‘-18—%7—:5—3-‘%0-5—:2—1 0 IE;S Y5 T S/ S
5+{-3)=5-3=2

Add.

a b < d
03 e eZe e SRS 7R R BT SRR 57y
2. =3 q=3) nE@R | GRS QW e SO 3+3 %

3. 5+(—I).......L.}_ ~5+I_j_ =5+ (-1) —b 54t vualo
6 Draamthe e mgynlO Sy e S 1

5. urzells =7 IE=D R RS 7y B SRR, 3 B 1)
6. 8+(-8 O St 2 g) Naml bR T g Tll) GRERERE A NG R N
) e 34 0D S5 (o) pamlles iR (SN S
8. 54+ (-6) =\ iy g WS —8+0_=8 8+0 9

9 =3 A IO G eetatl el 34 (-6 =3
10. 6+ (-4 =100 g poyramid 6+ (—4) I 6+4 1O

-‘ipod_mm Math o e : Ch_uplar I_*_Lesson_ _ 5
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NAME

Adding Integers

To find the sum of two integers with different signs, find their

absolute values. Remember, a
{in units) that a number is from O,

bsolute value is the distance
ressed as a positive

quantity. Subtract the lesser number from the greater number.

Absclute value is written as | n|.

The sum has the same sign as the infeger with the larger
absolute value.

Add.

9.

—

--l}+3=,,|
|-|+|=I+ q-a,._l

'*>3,sothesumi3n%

a b c
6 i2E RO 9+(=_5 7419 =24
Hi7=_3 o ) ! -12+11=21
~16+0=—1b 13+ (-24) = _— 11 -6+8=;2%
0+(9)= —1 o= I +2=14
=l O g e 7+ (17)= 24O
-45+2|=;%'i 4 +44=_ 35 33 + 25 =
27 + [-39) = _— 13 20+ 1=_4l 3+(-3)=
=12+ (~12) = ~24 35 + (-26) = a -22 + 36'-'.:}’
=
31+ 17=_4% 9+ =_=15 47 + 37—
4+5=_9 43+35=_—F 24+I—33"%?




NAME

Subtracting Integers

5-7=54+(=7) = =2

To subtract an integer, add its opposite. —tt " .
=3 =2 -1 0 1 2 3 4 5 &
Subtract.
(] b C
I 3*“=i 5-2=_3 Y4-6=_—/O
3 =l2=3= 19 5—{6)=_| 4-19=_~2
3 4-19= 15 == 10 16 5 (za7)= bt
4, 6-{-6)=_0O “i1-o0=_—11 —2—2=_:j
5. 8-1=_ 1 8—(-l)=_i —I3—3=’_’f0_
6. 43— 15= 2% 27— (-3¢)= "1 & =2 “iE3gy 2ty
7. 46— (-alj= 12 Lug 7)o 38 - -17) = ~ 21
B. 9—[-6) = 19 15— {-1)= Nﬂ -9 - (-22) = 3
9, (_3)._2q=-'a?7\ —HH"I'-I‘=—55 42 - 45 = -3
10. 33— 12= ~45 37 - (40 = B _ 5-t32=_37
Specirum Math Chapter |, Lesson 6

Grade 7 Adding and Subtracting Rational Numbers




NAME

m Subtracting Integers

Subtract.
o

I 2 f27)- 22
SN (Ua7) aetide
3. 16-(1=_1"1
y, p-24=—06%
5. 49— (46 = S
6. -32-(-50)=_I%_
7. -5-(30)=_22
8. -33-39=__12
9. 32-(—LH)=_7_‘?_
0. -50-19=_"61
1 A e
12, 56— 21)=_271
13. 31 - a1 = 64

b

_25—-3=:_i'?i
_9~L18::_?-.Z
24~(-49)=_@_
31 -34=_—65

—16 — 49 = 62

30— t2n=

|4—(—20)=_‘3_L}_
4 - (8= /2
w-t-_"4
4g - (-32) = B2
45 - 13= ~98

ST i3y 1= i

1

2 - -9)= 89

R,

28 - {20«
28 - [-15) < :
=30 - -3¢} <
=31 - H1y)= '

18- 8= =/

48 - (47)= =

9 — [47)= O

B

| - (i) = 4

_|3 = (_39)1 A
-4 - (9=

B - (67)= =
i

24 - [-17)= =




NAME

Wiz cafeotr ﬂ:cfbg "2 3—1_9. 3?&& 5’2 a_.—?

)
| /5 1 n [ 0(d
I 5513@ Ne 12@ Nz 2_9_4.‘7 5.36 5_62_7 ILuBS..__w. —_—

—{T =N
T o 4.8 S_u.q.ﬁr B_bz_ ..:uu ..2& o w;ms_m

L]
o ...._2 i l_.o —iey |._3 l2 3_"1 ay I_3 |_2 o —©
7o

To subtroct bractions or mixed numbers when the denominators are different, rename the fractions

S2ILUMIVA Subtracting Fractions and Mixed Numbers
so the denominators are the same.

AT o?z ol of2 zz o_f_sﬁ g) TRVR
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Subtract. Write each answer in simplest form
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m Problem Solving
Solve each problem. -

- At closing time, the bakery had 24 apple pies and |4

cherry pies left. How much more apple pie than cherry
pie was left?

There was more of an apple pie
than cherry.
+ The hardware store sold 62 boxes of large nails and

7 § boxes of small nails. In total, how many boxes of
nails did the store sell?

The store sold boxes of nails.

+ Nita studied %43 hours on Saturday and 54 hours on
Sunday. How many hours did she spend studying?
She spent hours studying.

. Kwan is 5% feet tall. Mary is 4 feet tall. How much
taller is Kwan?

Kwan is foot taller.

. This week, Jim gructiced the piano |4 hours on
7

Monday and 22 hours on Tuesday. How many hours
did he practice this week? How much longer did Jim
practice on Tuesday than on Monday?

hours this week.

Jim practiced
hours longer on Tuesday.

Jim practiced

. Oscar caught a fish that weighed 4 pounds and then

caught another that weighed 63 pounds. How much
more did the second fish weigh?

The second fish weighed

pounds more.

Spectrum Math
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Problem Solving

Solve each problem.

1. One cake recipe calls for 4 cup of sugar. Another . L 3%
recipe calls for 11 cups of sugar. How many cups of g |
sugar are needed to make both cakes? + % = %
cups of sugar are needed. l .:L >
2. Nicole and Daniel are splitﬁng a pizza. Nicole eats 2. 2 T
i of a pizza and Daniel eats of it. How much pizza ()= e
is lefi? ot
ERE
of the pizza is left. - (J-_\
2 Wi

3. The Juarez family is making a cross-country frip. On 3. =
Saturday, they iraveled 450.8 miles. On Sunday, they “450.8
traveled 604.6 miles. How many miles have they B

traveled so far? (10655, E)

They have raveled miles.

4. Kathy's science book is 13 inches thick. Her reading ... |3 =.—§*
book is 132 inches thick. How much thicker is her | o
reading book than her science book? — 1y =4

iy
b : - &
It is inches thicker. é—;

5. A large watermelon weighs 10.' pounds. A smaller 5. 10-‘1
b

watermelon weighs 3.6 pounds. How much less does - S

the smaller watermelon weigh? 7 8 .
ké T_- _.".- &

It weighs pounds less.

6. Terrance picked |15.2 pounds of apples on Monday.
He picked 97.6 pounds of apples on Tuesday. How
many pounds of apples did Terrance pick altogether?

Terrance picked pounds of apples.




NAME _
ctions and Mixed Numbers

Multiplying Fro

nd mulii &
fiply the numerators @ ply 4

. ] I
Reduce to simplest form if possible. Then, mu
the denominators. |
I xsxl = g% 2 § 7 'I—% i
xgx g -Hopp - BED

j . Multiply th
Rename the numbers as improper fractions. Reduce to simplest form. Mu ply the numerqbn.

and denominators. Simplify. :
2 l—%"lx =l_5§_>_<x_ll,:.i3=5.5§=9§ -':J-

¥

Multiply. Write each answer in simplest form.

a b
k1 3
3 —
. %x%@ @ ;
§) -7

wir
Wik

X

=
X
Chit

M. 3x |2

5. I§x3§ 2§x1-3'~ 4l x 2

6. ' x3%x




NAME
m Multiplying Integers
M

tegers with the same

3x3=9
sign is positive, —3X-3=9
The product of two integers with different 3X(-3)= -9
signs is negative. ~-3x3=-9
Multiply.
a b < d

1.3x2=__(p H4xg= ~24 8xh&=;£i -BXF%=_E£

2.8x7= 2306 OX[5)=220  3x(8)=_24 4y 1o -4

e —

BN6XEN =228 Axirlp=d  gxpin< 88 7 X [210)=_TD_
“.5x8=_490  ¢x(¢)= 3¢ “13x2)=_2o -9x9= =8l
5. 7%= 21T 5x¢2)= 210 _jyx3=- - 42 7% [-5)=_3S
6.16)x0=_O  7x3=_2H  gxpi0= 060 () x (-5) = _IS
7.8x121= 216 (H)x(-10)= 40 10x(3)==30 3x5-_ IS
8.9x(H=_"36 jox4=_d0  1Ox{Y=-40 sx9= HS
9.0x(-10)=_O  1ix1=_121 2x3=_  (yxEi12=_43

e g
10. () % (-6) = 2% 1) x(-2)= 20 3x12= 3L  4x7=



NAME

 [EEEE Milying Ineoe”

Multiply.
a
. 2x4=;1_
2. oxi7=262
3. 1ox(-1j=—10
, [2x1=_—2
5, |lIlx2= L
o8 5140
7. 6x{-2)= LA
8. 2x7?Jj_
9.kaka=iﬁ_
e O el

12.

13.

mx32?2§L
1 x(-41}) =
1 x (-46) =

27} X 16 =

-4s]
Stk

- 43

b
-9

3x{-3) = ——

7%

2%

7xX4H=_~ —

-2

9x8=

(-11})x2=

7xli=___

i x7 & 0L
9 x (M) =2
3x8= 2%
(—8)><8=:£”.L_*_
4 x 8= 237

7x (14 =298

4x33= |37

21 x4= o4

1) x 36 =~V

~12x (1) <[4
~li
4x([-12)=

6% (-8)=_%

I2x3=3?

ot f
Lt

F12)x 721

| x ()=
I

() x (3] =_‘

\

3 |
-

3x (7)==

)0
2x5=_—
6% [-51= =

——

18 x (~18]% =

13x-57 =1

S

Paxkﬂf;




NAME

Dividing Fractions and Mixed Numbers

To divide by a fraction, multiply by its reciprocal.

J
Do d=dxg=i-1h 1§+ 28 = bx5
I

Divide. Write each answer in simplest form.

a i b o ¢ it d I

I 3%+§=5‘* 4i+1f=415 1+4=_lB 23,4413
% 9 b 3
2 7+4-1% iyl 2.3-2% 3:5-_5

yis s 5 o 9%




NAME

Dividing Integers

The quotient of two integers with the same 8+2=14

sign is positive. -8+ (-2)=Y4

The quotient of two integers with different 8 + (-2) = -4

signs is negative, R

M

Divide.

a b ¢

i. 12+Y4= 5 |6+(—'-I)=ﬁ -8+‘i=d—g_.
;& 7-:*(—I)=—-7 —I'++7=_:'_?_ 2'-I+(-6)=...__...ﬁL/
3. 8I-:—(—3)="‘?7 —63+9=;Z —55+(-5)=__I
%. 21 =(-7)= 32 —38+2=:_/_? "|9+(-”=..__._I7
5. I2+(—l2)=-'_| 42+(—2I)=:§ -60—:—(—I0)=_[L
6. 2:2- 10 30+(-|0)=:“_3. (—50)+(-|0)=_§_
7. 288-:—(—|8)=:_E’i_ (-85)+(—5)=_}_7 (—361+'*=Li
8. |:*.<s+(-3)="’7 (—l7ll+l9=_'?_ 240+I5=_/¢_
9. 168+ 12= i (_200,+20sz H+(-7)=2
10. 240 + (-15) = ’/(/ (-l20)+(-8)=_1,_5_ i02+(-l7i=_’_¢_



12,

13.

F10) + o=

13+ =12
400 - (-20) = 740

(-200) = 10 = 0
88+ 11=_0

—

288 = (-16)= | .

133 + 19 = 7

96)  12= ~8_

(-156) + {-12) =

N7 17—

_!6

NAME

ek
15

120+8=____
=57

(~210} +

39 + {-13) = _—_
224+(—|6)=_j'_/_"_f

(—60)—:~|2=__tf_7

90) = 6=_12
5525 =l [
-306) + 17 =_~18
Mef7)= T
(-18) = (-9) = _ &
-180) = 15= /&
2% + (-2 =213
(-248) + 4 = = (02

200 . O

(224) + oy o/

€

144 + (-g) ‘” :
(—3) + | = = i |

66':'”=. =

.
.

268 + 16= /5
%0+ -10)= =7

|28+8§:f;!
(-64) + 4 ;
252 + (-14) :.;
(-33) = (-3)
(-105) + *

54) = (9=

“

-272) + 348

innR = [ 42) = -



NAME

Solve each problem. Write each answer in simplest form.

EOhCh month, Kelsey donates § of her allowance to her | 1.
school for supplies. 1 of that amount goes fo the chorus

class. How much of her allowance goes fo supplies for
the chorus class?

f her all
Tore: daites ot her allowance goes to help the

2. Alvin cuts § of a piece of cheese, He ives £ of it o 2,
Matt. How much of the cheese does Aﬂvin gaive to Malt?

Alvin gives of the cheese to Matt,

3. Katie has 163 hours to finish 3 school projects. How | 3.

much fime may she spend on each project, if she plans
to spend the same amount of time on each?

Katie will spend hours on
each project.
4. Martha spent $2.90 on 34 pounds of bananas. How L 2
much did she spend on echOPOund of bananas? 290 P 3- )
i )
She spent on each pound. ='0.% —

5. Monica has 53 cups of sugar to make pies. If each pie | 5. 5 Y L)
uses -é- cup of sugar, how many pies can Monica

make?
- . -
Monica can make pies.

6. Vince has 124 hours to mow the lawn, do the laundry, | 6. ARt ; E
make dinner,zand finish his homework. How much fime [ 4 @‘8E>

can Vince spend on each task, if he plans to spend the
same amount of fime on each?

Vince will spend hours on
each project.

7. Drew spent $38.97 on 33 pounds of shrimp. How
much did he spend on each pound of shrimp?

Drew spent on each pound
of shrimp.

B L e S "
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Constants of Proportionality

A unit rate can also be called a constant of proportionality. The cong,

describes the rate at which variables in an equation change. nt of

x 2 3 5 6 Step 1: Set up an equation in which

i P e v e M LA th°°°

Step 2: Check the equation across m

the constant. ulliply Paing

Step3:6+2=3,9+3=3 155,49,

Find the constant of proportiondlity for each set of values. =
a b :
L x T 2 | 3 [ 8 x o4 o8] isly
y | 15] 3 [ 45] 12 AEEE
i i
2 xT 1 ]2 [25]35 x | 45 6 | 1051
YAl 2 Y| 457 | 7 y | 75 10 |175(
A8 2
k= k= / =3 _____l_
[ x 2|4l 6| 8 x 1 101 20 [ 30
y [ §2@[ a0 e w0
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NAME

m Constants of Proportionality

Find the constant of proportionality for each set of values.

i.

x | 2 3 Y4
Y 2 Y4 6 8
A
¢ & T ARG
x 5 15 | 25 | 35
4 | 3 5 7
il
)k
x 18 30 42 | 54
Y 3 ) 7 9
Do
k=18 " Yp
x Y4 8 12 | 16
y | | 2| B3R s

b
x [ 3 é Pou| G2
y 2 4 é 8
2
k= 2
x | 5 | 10 15] 25
y | 4| 8 | 12| 20
k= £
x Jo2s] 1 [ 3 | u
y (05| 2 6 8
o5
e vl
x [ v TsaTi127 16
72 dR G Y
o
R o




mm e —
Page 2 of 6

edHelper com - Percents

b
T Date

Percent

(Amwer ID = 0799797)

Write each percent as a fraction in simplest form.
I 310% 2 23% 3 99%
g28 23 7471
10 /00 /00
Write each percent as a decimal.
4 1% 5. 565% 6. 330%
O.0l1 o .Sle= 3,30
Write each decimal as a percent.
7. 0349 8. 0083 9. 0390
34.9 o g 37 397

ercent. Round to the nearest hundredth of a percent.

Write each fraction as a
10 1. 4 12. o3 13. 2
4 25 5

25 9, (2.5% 407,

Find the percent of each number.
74 14% of 229 #5. 75% of 262 Z6. 298% of 41

.1t x 226232.06| 5 75 x 262°196.5 |2.95x 41 = 2218




Complete, Round your answer to the nearest tenth.

27 140is 70% of what number? B. 397% of what number is 297.757

,,LL;(;'-'; Z.D_;?;c‘ 3-47'K '-'i 97.75

—

Find each percent of change. Round your answer to the nearest tenth of a percent.

79 290 is increased to 435 20, %5; g increasec(l:o 639
A90-x=>435 "X = {39 ‘? :
= )50 507 = 1509 SO0 7 1acrea
x= 1502 ;'nc;ﬁas-e, X = o

21. Ronald bought a book that was regularly priced $7.99. It was discounted 20%.
How much did Ronald pay? /0D % — 207 = 807,

7.99 - 307 £¥

22. A bicycle costs $129.95 plus 6.8% sales tax. Find the total cost.
129.95 x 0.0L8 =*3. 84 +ax

189.95+ .84 413879 )

23. A jacket costs $120 regular price. It is on sale for 55% off. The sales tax is 7%.
What will the final cost of the jacket be? S4 +3, 78 —

b & ~P
|20 « 45 »P54 7 5
54 0.07> 3.78 57.778

24. A computer priced $900 was marked down 25%. One month later it was marked
down 10% from the already reduced price.

a. Find the price of the computer after the first discount.
4ge= [0D-25-75 oo x ©.75 g@

BONUS (4 poinis) — Find the price of after the second discount.
675 x 0% f(,, 07.50
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solutions of Equationsg
Name
o e Date PeriOd
Solve T
1. x+8 12 __ﬁ-__
2 x+7=30 s
9 x-5=20 A5
PR 4. x-13=44 SH,
5- X+ 3': 34 :é_,,—z___ ot gq
6. x+7=-22
7. x— 14= ~43 :_él_o'___ =
8. x—15=-34 7
+10 =100 a0
Pl e 10. x+14=121 o7
= 5%
1. X~ A2 12. x-63=17 E_Q_,
=39 -
13. x+961=52 S 14, x+86=47 39
16, x+5=13 cSw 16. x+9=25 6
17, x-4=19 25 18. x—17=22 37
19. x+5=-14 b 20. x+11=—23 =34;
A
21. x—19=—14 __‘é__ 22 x-23=-7 b
23 x—4=-34 _‘_"__39 24. x—-9=-27 —13
25, x4 27450 -3b 26. x+13=—37 S0
Sl
27. x+14=3 ,_:U_._.- 28, x+22=11 /
~25
20 iipEie -3 30. x+29=4
~7 32, x—19=-33 __'"_/j__
w p B

31, x-14=—21
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ame
——— \
Soive. Date
ViR \ Period
\\ 2' 1 L
1.3 =3 23
3. X—5=
2 2 R —_—
5 x+§mz ljg' § 5 |5
T 6 x+5_ i -
3 t3=3 |3 oK 3
7 X—'.;;-—~5 5?_
% 8 x___=11 ,l -5--
8 -7 o
8. X+§=7 5 -8-; 5
TS 10 x4 17 =777
T A
1. x-2=3 | 2 e
a & -_—_"'"8"‘- 12. X—g:% ' 5{
5_2 \/
13. x+2=5 |
9 3 vial 14 x+%=§ o o
4
3.3 7 .
St 568 175 16. x-2-5 A /5
3 3
17. x+0.25 =1 .75 Tl e 3.3
19. x—-0.75=9 ﬁ 75 20. x+0.81=15 / L'L"?
21. x+231=-44 ”_.é_'...]_.l 22. x+532=-33 "_8.___' G-
23. x—1.15=~3.61 “;2_-1(.‘1 24, x-3.42=-554 "’i’ﬁ
25. x+37=-22 F5'9 26. x+43=-8.1 ﬁif.:_'.-_‘}_
.24 e 04
2. x-822=-7 L 22 s x-esa--2 i
5
1.2 +47=82 3.2
29. x+22=35 BLAGNRE N0, X
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soluﬂons of Equations Name L T
Date Period __———
‘__,.--'-__ & e - s
Solve
14510 e 2, 2x=4 __5___.
2 =
% a0 #=0 T 4. 4x=-12 L
5. 19x= 91 g 6. 21x =147 __L
7. ~by =84 ol o I
s o]
9. 8z= 9 --—-\—— 10. 12z=-36 e
41, —4u=0 _._O_, 12. 10u=0 ._-—-——O
13. —16p=-128 _i__ 14. —23p=—161 7
15. —x=115 :..”_5.... 18. —x=108 = )Og
A 3
17. 36x=18 ol s il N 18. 16x=45 bl
) hidf
19. 85x=~17 ._./-_9. 20. 48x=—12 /’;{
! ]
21. 98x =14 __../Z._ 22, 102x=17 /(g
B. -x= _:5[_ 24. —x=20 ~ 2D
l
d Y
25. 36x=27 __3_f/t_ 26. 45x =60 /3 0% 1 '3
i) 535D
27, —15x=6 /5 28. —28x =21 /"'L
et 5 = ) V4 -2, il
28, 14x=-35 /3 or ~A 4 30, 24x= —36 2 R [ 72
A =9 ]
% /e /,
31. 12x=232 /5 orR 2 S 32. 16x=20 4 R ] /4
Jﬂ Devaloping Skilla In Algebra Book A

——~a



—

solutions of Equations ]
Date Period . ——
. T
Solve.
1. %x='5 /0 2--15x=2 g
[ A
3. T ] 4, ';-X=1 5 E
o -;.x=r3 _'_'L 5.%}{:—2 -—Ig
o S 27
9. -’121x=4 i 10. _—&__’1x=2 =10
. :'1":7 _____2 12. ——1x=9 "27
. 3 —
x=- i =1 b3
13- -7-X 2 14. _§_x_ 7
o 2
15. §x=12 = 16. %x=9 __.’__._._
17. §z=12 3% §z=1s F0
1. §k=3o ._‘%_ 20 §k=21 4
21. Zla=18 T .5"‘('___ 22. 2p=-50 /0
23. _—4c=—20 L{‘E 24, ———§d=36 ,_l_,lg
25. 3¢ = —24 240 26. 3= -32 - 50
5 T
5 S
29, 2X_ 5 % 30. 3 =24 5
8
143 —5x _ —~77
3. :%9 ='dd ILIL 32. =77 =36

Developing Sidls in Algobre  Book A
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Decimals and Fractions .

!) Calculate.
1 = i:: ?.: (6) -—-L-
(1) 6+oi_5- z 3 6) 0.75 3=
R
| _ 13 172 i .
(2) 0.45+~5-— 20 (7) 20 0.55= , :

(3) 0.85+%= I?@
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Calculate, 3 points per queston
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Decimals and Fractions .. .
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Calculate.

5 puins er uesion
E’ g+"—87_x0'8= /% (7) I.8+%x%—= 2%
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' L} Calculate. Write the infe

order of Operations :::

rmediate steps.

~ Don’t forget!

According to the order of ope
« calculate the numbers in
» then perform muhiplication and divi
« then calculate from left fo right
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os and brackets first
fore addition and subtraction
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R culate. Write the intermediate steps.
/)

3 Bt pet Queton
3 1
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5) [(20-4)+(2+6)I=I0E ) 8.2- L +3+6x2 = 9
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(6) I%—‘%-:—4x2= , {5‘ 02) (8.2 —5)+[3.{6x2)] = 84
Answer each word problem. Write the question as an expression 10 paints for completion

first, and then calculate.

Robert bought 5 books each day for 2 days. He then bought 2 books each day for
4 days. If each book i |s worth $15.00, how much money did he spend? ~ —

(xR F3xH) x |5 = (327




